A Temple of Education

NILACHAL EDUCATIONAL TRUST
ODISHA VIDYARATNA AWARD
CLASS - IX

Time : 3 Hrs. Full mark : 120

Instructions to the candidates :

o All questions are compulsory. Candidates should write the answers only in the blank space provided.
) Candidates are advised to attempt either the Odia medium or the English medium questions as per their
) E:I";c;,-l::ee\./vill be no negative marking for any wrong answer.
) Do the rough works on the sheet attached at the end of question paper.
A. Fillin the blanks with the correct form of the verb (Be).
Q1. The poet and novelist dead.
Q2. The horse and carriage arrived.
Q3. The jury found the man innocent.
Q4. The gardener his job efficiently. o
Q5. Trees an important pa&o(ou eg&system.
B. Fillin the blanks with theaoprokfate repositio - -
Q6. | shall have fimished the wor tomor\ow.
Q7. next April a*a{ en \eaving the USA.
Q8. The-deg-ran the swimming pool.
Q9. The studegntsjwere asked assemble in the auditorium 11 a.m.
Q10. Putthe clothes the bed.
C. Re-write the following sentences using the correct form of verbs in the bracket.
Q11. The car (break down) yesterday but the mechanic (repair) it.
Q12. The temperature (soar) to 450 C but it (again come) down.
Q13. Hasn'’t she (return) from the school yet?
Q14. There are pools of water in the field. It (rain) for three hours now.
Q15. He (apply) for a visa and is still waiting for it.
D. Fillin the blanks with the correct form of verb given in the bracket.

Q16. Since he changed his job, he (found) more time to relax and enjoy his hobby.
Q17. The train (depart) before we reached the station.
Q18. Mummy, tell papa that his phone (rang) while he (have) his bath.
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Q1.

Q2.

Q19. The entertainment program (end) by now.
Q20. | will (complete) this task at this time.
Fill in the blanks using the appropriate determiners.

Q21. politicians are honest and should be chosen as our representatives.
Q22. of the shops are closed on Sunday.

Q28. is the most frightening horror story read by me.

Q24. friends he has are all very poor.

Q25. grain they had was damaged by sea water.

Q26. The District Magistrate visited flood affected area.

Q27. | have watched movie by late B. R. Chopra

Q28. People stood in side of road.

Q29. There is ice-cream left. Who will eat it?

Q30. The rain was pouring down in torrents but there wasn'’t wind.

Fill in the blanks with appropriate modals.

Q31. Suman swim. You not allow her go to swimming pool.
Q32. Preeti easily win today’s match hadn’t she hurt her knees.

Q33. In India, the death due to road accidents _inereased drastically.

Q34. Wider road awareness among road users ﬁtaught.

Q35. More stringent laws _beenforged while issuing license.

Q36. Cross border terrorism i \ i)n)rea if there Is na@heck now.

Q37. | hope the terrorist ( \ r%(lise their oﬂbligations.

Q38. Ki sin nat the sin eﬁ%;ce\?et rorist not be punished.

Q39. (c:g;_\i_s not k;ving ell now a days. He get well unless he visits a doctor.
Q40. He‘shoulj take resﬁnd proper medicine he should fall seriously ill.

50 kg @ QG G998 9@ 9 A6 Y@ Ja O J6AI6 @GRl QIR 99N GRSl 5 M/s22 | 666Q
66 621RQI AR AGANIS CGS a6 62Q |

A constant force acts on an object of mass 50 kg. and produces an acceleration of 5 m/s2.
Force in CGS unit will be
@ Q9@Q 50 grams @LQR I g@ 30 m/s JQAERGIER QQIRLN | 666Q R ° Q90

LEROIRQ 2RI = I

A bullet weighing 50 grams leaves the gun with a velocity of 30 m/s. The ratio of

momentum of the bullet to the gun is
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Qs.

Q4.

Q5.

Q6.

Q7.

Q8.

Q9.

Q10.

Q11.

e 901 @ @9 10 m/s?2 Q QQSI6R 0Re SI3RI | 686 ¢RI 5 seconds J6R QIR
JR6QE! = 62Q |

An object dropped from a cliff falls with a constant acceleration of 10 m/s? .
will be the speed after 5 seconds of dropped.
@ ARENRE A9 e QBRI 08 QIRIQ QUIQIE 42250 km. 60 ARGAS Q6 | 9@ 69 Qs

ARRAS AR 24 hrs A P 1 666Q Y2IQ ARERE = I

An artificial satellite is moving in a circular orbit of radius 42250 km. If it takes 24 hrs. to
revolve around then its velocity will be .
QIR 99 6916Q 15 minute 60 1 km QIRMI J6Q QGQ G56e 10 minutes 6& 2 km 25Q¢

P6R | 666Q BI'Q 2RULIR 6Q6! = (m/s) |

Raju walks 1 km towards the East in 15 minutes and then he turns north and runs 2 km in
10 minutes. will be average speed of Raju in m/s.
5kg Q@9QR 98 @904 QIRIQARI & 25 gram R IR6Q6 500 m/s 626R, Q@9AR JGUISIFIR

JRBREIR Ry = |
The recoil velocity of a gun having mass equals to 5 kg will if a bullet of 25
gram acquires the velocity of 500 m/s after firing f the gin, .

150 g @ 9@ 99 2m/s JR6Q6 9@ &6 @QIj:G@ NQQ K6 QQ@Z I
will be the gaementum of a ‘ston€ having mass*150 g when it is thrown with a
velocity of 2m/s.

0

Qa6 F6nace (98 94x101 kg)'ERISQ'QRG! 10A |666@ 6P FRIER FARMIGES QR
N

JQeNE =

<

A . 0 . .
Two electrons each of mass 9.1x10*" kg are at a distance of 10A . The gravitational force

of attraction between them will be
o 810Q ekl AR & 8 0.1 second 6Q QEI0IR 2m GRRIER dQl e CaRIa Aoae

@6 | 606Q KXW Q° 8lo FRIERQ Q| = I

A stone is dropped from the edge of a roof. It passes a window which is at 2m height from

the ground in 0.1 second. will be the distance of the window from the roof.
(g = 10m/s?)
4.9 kg @4 9@ @Y Qe 2 kg wt. @ @ Q@@ JELIC 626@ QI QR 69Q |

A force of 2 kg wt. acts on a body of mass 4.9 kg then its acceleration will be
Q2R RIRGIC 6SRIPH IR OAEHR 6ARS AAIFQ O AT 6268 |
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Q12

Q13.

Q14.

Q15.

Q16.

Q17.

Q1s.

Q19.

Q20.

Q21.

Q22.

The birth year of the great Indian Scientist Sir Chandrasekhar Venkata Raman is
PENSIOR CRIQ Q ARG AQOIR @ |

@) Q& (e)eom (Qaegle (@) eEe (@) R

Among the followings has lowest density.
i. water ii. oil iii. hydrogen iv. carbon  v. salt
PIRSOR IR Q QYR 9Q0IQ 2RI |

(@) PO e 2] (&1) SRR REIR @ 2Ud]

(61) UPIRRIR I 28] (@) 26D da 28]
Among the followings has highest mass.
i. 1 molecule of water ii. 1 molecule of common salt

iii. 1 molecule of carbon dioxide iv. 1 molecule of ammonia

Q84 go° dEIeT ARIEQ DNA @ QIngQy % &I

Humans and Chimpanzees share roughly % of DNA.
FIIAIRIER 6IRIA NG° PIBRR B EIRER ARSI AAR &I |

At temperature Celsius and Fahrenheit scale equal.
6410 QOIGER AQOIR Qe e Pl

is the biggest planet in r sy
-
o 2lem LR 4 SR RSN
An Octopus has brains.
ﬂ@l@l@@@@ @ QE JANN G NI @16 I

S the\lame of the first artificial satellite to enter space.
QARER &Tam@)qg Q8 QIAAIBI Olgy A1) 2@ 1 (QBY [ Al

QRQ :

Lightening is hotter than the surface of sun. (True or False)
Ans.
@ 2l Il e 6915 99 QAR 266 | 921 @I

An ion that is considered as a proton is
AIR6S RS2 GE6R 2ol 9an QTR JAQIHE

The liquid inside the mitochondria is called
660 186Q gQl 2leral 66I8ER] PCI0R6R AIRITY @GN |

The helps for membrane biogenesis.
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Q23.

Q24.

Q25.

Q26.

Q27.

Qz28.

Q29.

Qa30.

Qa31.

Qs2.

Q8383.

Q34.

Q835.

Qg3e6.

Qa37.

Qs8.

06 QI 6@ ISRIGPR | 2RIRIRNN PR QAR VIR 26T |

The organelle of cell is rich in digestive enzyme.
QUL RN 62 VR QAN |
Ribosomes are called of cell.

QO I6° QIRIE] 6 186Q Q| ARIIQE] AaPe I PIET |

The common organelle found in plant and bacteria cell is called

PIREREA TIR ERISG G1eQ 266G |

The cell of xylem tissue is living.

252 QIR Al §1g AR 69 QIR 621ReIN |

The tissue makes the husk of coconut.

AR QIRER 61881 JQQ ARQLNSIER &N |

The lentils are rich in nutrient.

UG Q° 981 6T @R QI ARQUAIRIQ| CPARG. @@ |

The crops which are cultivated by making rows and columns are called
QARSI IR Gl R QQIAIN |

The Indian breeds of cattles are also called as e
Q@R Q@@Q ¢9Y R0 IRRI6R QIR RN ORNEIN

The tissue that helps for conduction o f in pl

QIR F1e612 RIN @l

Hone@are cultivated forithei

\1@ S éﬂ@@ 96 ORI |

( is an example of kharif crop.
66100 PAR AR Al QIQQe @ |

The machine is used for harvesting of crops.
9@, d. 6@ (N. P. K) 6268 QNG QRIQE] |

NPK is an example of
JIBRR IR §Y IR dRI QI Qea @2 |

The parenchyma tissue having air spaces inside it are called as
@ EMP 9 @@ |

The is called as the colourful plastid.
DNA @ @IJ4Se aaq @9Q |
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The functional unit of DNA is called
Q39. 0l 6OR, RI8 B JdG @I |

The plants having no root, stem and leaves are called

Q40. 6FNe @%@ 618 €10 26T |

The cell of phloem tissue is dead.
Q1. @ If giﬁ —a+by6 , 606@ (a, b) =

If 332 _, 6, then (a, b) =

=)
&

Q2. &9 a=xy"", b=xy"", c=xy", 606Q a® b PP QY =
If a=xy*", b=xy*", c=xy", then the value of a* b rcro =
Q3. RIP @8 X Q IRY PQAE @Q | 2% -2 +2° =0, X =

Solve and find x. 2% -234+2*=0, X =
a\°¢ b \2 c\P
o (5)5){F)
X X X
Y () (xe)
2 x| 2| x| = .
xP X° X2 e — e

Q5. <5 49392 =a'b’c’ O 696M a+b+Csem j@“ a, b, ¢ AIRe ARG ARG SR ety |
If 49392 =a’b?c® then a+b%c= where a, ,t{re different prime numbers.

Q6. 9 2?2“10 ,§6® = \
If 25*\=5>2"~100, = .
1 1 \

a7. €@ [X_a‘é];??s ] _x'y® 666@ @+ b = .
X

X7y y

1 1
-1,,2 \3 6,,-3 \2
(] 5 e s
X7y" Xy

1 —
X2 +xy +y? a

Q8. L@ x=%28, y=327,606Q x+y-

If x=3/28, y =427, then the value of x+y—%=
X"+ Xy+y

b

Q9.

©

Q10. 96 V3-2/2=a-16060 a =
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Q11.

Q12

Q13.

Q14.

Q15.

Q16.

Q17.

Q1s.

Q19.

Q20.

Q21.

If y3-2/2 =a—1, thena =

(x—y)3+(y—z)3+(z—x)3 o (x—y)3—(z—y)3—(x—z)3 Q.45 =

The LCM of (x-y)"+(y—2)" +(z—x)" and (x-y)° ~(z-y)’ ~(x-2)’ =

QURead : - (x2+%j—4(x+%J+6=

Factorise :- (x2+%j—4(x+%j+6=

QD (x+2)(x*+25)-10x° —20x =(x+2) A6G6Q@ A =

If (x+2)(x* +25)-10x* ~20x =(x+2) Athen A =
0.87x0.87x0.87+0.13x0.13x0.13

ARl @9 - =
0.87x0.87-0.87x0.13+0.13x0.13

0.87x0.87x0.87+0.13x0.13x0.13

Solve : =
0.87x0.87-0.87x0.13+0.13x0.13

— PR o 2 2
6 a, b, c 608 & 9 2@ 16" a+b+c=0 6666 —+%+%=

2
If a, b, c are all non zero and a+b+c=0, then the value of Z— = =

1 1 1

a6 E+B+E:1 G° abec = 2 696@ ab’c? + Ta’b’o=

”';+;+%_4 and abc = 2 henab22\\;c'+abc= >

4,'2) Q9 FRIBR 615 K6Q, G’ @ @S]

N qz’(&m I3[l a;a 2 @ N
The equation of the line parallel to x — axis and passing through (4, 2) is
N é@g 9@9 X M6 y 28 Io° 692 AQREQH QIR A 621N, 696 IRRERE X I&° y

U@ QAIREE 9 NG° ¥ an QACIER 689@ @6R, 699 GURR 6IRPR =

The area of the triangle formed by the cartesian axes and the line that cuts x and y axis at
distance 2 and 4 units respectively is sQg. unit.

606 QQER —x+2y-1=0, Y - TR 6890 Q6Q, 692 AR RIS =

The point at which -x+2y-1=0 cuts the y — axis is =

R QAR A e° QURACR T QI |

T is defined as the ratio between the circumference of a circle and

A8 96 6R16IQ URIINE 6715 698 6RI6IR FEGEIN JAJAR 615 92 AFR, 666@ 698 6RISIR

AN =
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If the complement of an angle is equal to the supplement of the thrice of it, then the value

of the angle =
Q22. 5 @ 6a18 x° 2R 2edae 6@ldl 99 A 266 IQ° @ 6@Id] y° QIR 0@@@@ o6l K49
e, 6660 X =
y
If x° is an angle which is equal to its complement and y° is the angle which is equal to its
supplement then ’LZ =
y
Q23. @B OLP6R oP|Rs , ZLOPQ=110° \4e* LQRS =130°, 666@ £PQR=
In the figure op|rs , ZOPQ=110°and #QRS =130°, then ZPQR =
R S
1300
P
O 1100
Q
Q24. AABCEQ ZA>/B>/C NG /A, /B, ZCQ gau O eretl [666@ (£A,.B,2C) @ AR
In AABC, ZA> /B> «C and the megasure ofﬁ, /4B, 4C/ar in@rees and in integers,
then the least possible valyes of ( A,\&B,z ) = ( , , )-
Q25. AABCG /B ~io° C§8@8 KN ORGSR O 6Q 689 @@ | U8 «B+£C=100°606@ «BOC
- W™ | N
Internal<bisectors of ZB and «C of AABCmeet at O. If #zB+2C=100° then #ZBOC =
Q26. AB 6Q61I61gQ FRRIGE D 266 | AB Q e Q@89 Q9 P, A 9Q° B Ol Qﬂ@;@@@ﬁ QQ 266G | 666Q
ZADP=
AB is a line segment. D is the midpoint. P is a point lies outside of AB such that P is
equidistant from A and B then the value of ZADP=
Q27. @ QIR CURR J6GYR @E8Y 6RISIQ ARLNE =
The measure of each exterior angels of an equilateral triangle =
Q28. @ AFQIR PR 661N Q2R LR OIf A9aE 9a6l I 62.4. | 666@ 698 GRAR I&

<

2IQ86R IS ANGHERR 6G6Y =
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Q29.

Q30.

Qa31.

Q32.

The minimum distance of one side of an equilateral triangle from the centroid is 8 cm, then
the length of the internal angle bisector of that triangle = cm.
OB @6 RT=TS. A=22 96" £4=2,/3, 98 /TRB=30", £/T=70°, 606Q LTAS=

In the given figure RT=TS. £=22 and £4=2/3, if ZTRB=30°, «T=70°, then ZTAS

AABC6Q «B=2/C, D BC QdQg 9@ GQ | AD, ZBAC @ A0G¢8 @6 | AB = CD, 666
/BAC=
In AABC, zB=2/C, D is a point on BC such that AD bisects /BACand AB = CD, then

/BAC=

: .
96 GeRe 9a6 Qe 66dY Caleee G0, 9% 0.8 6A4.5. | 666Q §OIT QRQ 6X
» -
69.81. Q A.8. AR QAQ _

Two sides of a triangle are\of'lendgths\d cm,and 1.5 cm. The length of the third side of the

triangé; between
2R PQRS

806Q ng—z=

an cm.
QAN @8 PR q 966 @QIdieg \16° @l 009g T e @9 | ZSRT =152°

In the figure PQRS is a rhombus in which the diagonals PR is produced to T. If
ZSRT =152° |, find x+y-z=
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Q8383.

Q34.

Q835.

Qg3e6.

Qa7.

Qs38.

Q8309.

Q40.

P Q
96 099@ ABCD @ ZAe° /B@ 21@8 90Gsida O §06Q 680 @@ | £C+sD=K ~AOB
6069 K =

If the internal bisectors of two adjacent angles A and B of a quadrilateral ABCD intersect at
point O such that ~C+2D=K #AOB, then K =

0.6+07+0.47 =
N B
1+x%°  14xP2 T

3 3
(25)2 x(243)s
— 5 1 =

16)* x(8)3

(16): x(8) .
= ; 11 1
do 26=3 =67 606Q —+—_+_= .

x+y+z T ) /

it 2+2-2 then (EJ _(E]”’":
b a b

a
Q8 a®+b*+c?=24,ab+bc+ca=-46960a+b+c=
If a2 +b®+c®=24,ab+bc+ca=-4,thena+b+c=

add
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